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Level | Homework

1. Which is a correctly matched pair

A. Mesosphere-hotest region in atmosphere

B. Thermosphere-coldest region in atmosphere

C. Exosphere-atomic & ionic O,H & He

D. Stratosphere-lonosphere


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_chjNs6TaL2sM

Answer:

o Watch Video Solution

2.The oxides of nitrogen acts as serious pollutants among the

following are

1. N;O 2.NO 3. NO,

A 12

B.1,3

C.23

D.1,2.3

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_chjNs6TaL2sM
https://dl.doubtnut.com/l/_erhoP5DXO4bo

3. Which one is the biodegradable pollutant?

A. Lead compounds

B. Mercuric salt

C. Pesticides

D. Domestic waste

Answer:

° Watch Video Solution

4. Photo Chemical smog occurs in work, bright and sunny
climate. One of the following is not responsible of

photochemical smog. Identify it

A.NO,


https://dl.doubtnut.com/l/_Hx7olQhvQXVi
https://dl.doubtnut.com/l/_8YeiRVwaDkFX

B. SO,

C.O;

D. unsaturated hydrocarbon

Answer:

o Watch Video Solution

5. The pollutants which come directly in the air from sources
are called primary pollutants. Primary pollutants are sometimes
converted into secondary pollutants. Which of the following
belongs to secondary air pollutants?

A.CO

B. Hydrocarbon

C. Peroxyacetyl nitrate


https://dl.doubtnut.com/l/_8YeiRVwaDkFX
https://dl.doubtnut.com/l/_riZgbdlg0Bgs

D.NO

Answer:

° Watch Video Solution

6. The gaseous envelope around the earth is known as

atmosphere. The lowest layer of this is extended up to 10 km

from sea level. This layer is

A. Stratosphere

B. Troposphere

C. Monosphere

D. Hydrosphere

Answer:



https://dl.doubtnut.com/l/_riZgbdlg0Bgs
https://dl.doubtnut.com/l/_wiD9iJZQvDVr

| @ Watch Video Solution

7.1dentify layer wrong statement in the following

A. Ozone layer permit infrated radiation from the sun reach

the earth

B. Acid rain is mostly because of oxides of nitrogen and

sulphur

C. Chrorofluro carbons are responsible for ozone layer

depilation

D. Green House effect responsible for Global warming

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_wiD9iJZQvDVr
https://dl.doubtnut.com/l/_bZZV1V3EVQKi
https://dl.doubtnut.com/l/_Dj8YkFhG0Qey

8. 0zone depletion is pollution of

A. Stratosphere

B. lonosphere

C. Mesosphere

D. Troposphere

Answer:

o Watch Video Solution

9. Excess of nitrate ions in drinking water causes.

A. Methemoglobinemia

B. Kidney Damage


https://dl.doubtnut.com/l/_Dj8YkFhG0Qey
https://dl.doubtnut.com/l/_YeOVOULM99GE

C. Laxative effect

D. Flurosis

Answer:

° Watch Video Solution

10. The pH of normal rain water is

A.6.5

B.75

C.56

D.35

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_YeOVOULM99GE
https://dl.doubtnut.com/l/_ie7fom1rp3LS

11. Lithosphere refers to the

A. Layer of rock material on the earth's surface and the

ocean floor

B. Layer of earth in which all forms of life exist

C. Upper most layer of atoms phere mergong in to space

D. All most layer of water such as ocean seas, rivers, lakes

etc

Answer:

° Watch Video Solution

12. Which is incorrectly matched


https://dl.doubtnut.com/l/_ie7fom1rp3LS
https://dl.doubtnut.com/l/_Ygzhv0Jak7oV
https://dl.doubtnut.com/l/_BcGtpZYYHsQk

Disease Cause

A.
Flurosis Fluride in water
8 Disease Cause
" Minamata Mercury poisoning
C.
Disease Cause
White diseases Chemicals from petrolium industry
D.
Disease Cause
Pneumoconiosis Particulate pollutants from industry
Answer:

° Watch Video Solution

13. Which one of is not correct? Green house effect

A.is due to high Conc.of CO5 in atmosphere


https://dl.doubtnut.com/l/_BcGtpZYYHsQk
https://dl.doubtnut.com/l/_CQo19HTuYD6L

B.is influenced by gases such as CH,, O3 & chlorofiuro
carbons

C. would result in the warming up of the earth

D. would result in lowering the level of oceans due to high

evaporation

Answer:

° Watch Video Solution

14. The principal gas evolved from sludge digestion tank is

A.CO

B.CO,



https://dl.doubtnut.com/l/_CQo19HTuYD6L
https://dl.doubtnut.com/l/_qfelg4LyNZcC

D.CH,

Answer:

° Watch Video Solution

15. Persistent pesticides such a DDT pass into food chain and

increase in amount per unit weight of organisms due to their

accumulation in fat. This phenomenon is called

A. Biodegradation

B. Biomagnification

C. Biosynthesis

D. Decomposition

Answer:



https://dl.doubtnut.com/l/_qfelg4LyNZcC
https://dl.doubtnut.com/l/_2zNC0beLqtMQ

| @ Watch Video Solution

Level li

1. Match the following and choose the correct answer.

List I List II

(i)Primary pollutant (a)Oceans
(ii)secondary pollutant (b) Vegetable garbage
(iii) Biodegradable pollutant (c)DDT

(iv)Non biodegradable pollutant (d) SO,
(v)sink forCOyPrimarypollutant (e)PAN

A. i-dii-e,iii-b,iv-a,v-c
B. i-d,ii-e,iii-b,iv-c,v-a
C. i-d,ii-e,iii-c,iv-b,v-a

D. i-d,ii-b,iii-e,iv-a,v-c

Answer:



https://dl.doubtnut.com/l/_2zNC0beLqtMQ
https://dl.doubtnut.com/l/_hU8ffUBsMHGu

| o Watch Video Solution

2. Which of the following statements is wrong?

A.even low concentration of SO, causes respiratory

diseases, irritations to eye resulting in tears and redness

B. high concentration of SO, leads to stiffness of flower

buds

C. SOy in atmosphere oxidised into SOs; and oxidation

reaction is suppressed by O3 and H50,

D. SOj affects larynx

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_hU8ffUBsMHGu
https://dl.doubtnut.com/l/_YgN1ePKBUWHX
https://dl.doubtnut.com/l/_DpE6v9TkRE5b

3. The major natural source of release of SO, pollutant into

atmosphere is

A. volcanic eruption

B. Decay of vegetable garbages

C. Thunder and lightning

D. Oceans

Answer:

° Watch Video Solution

4. The maximum perimissibel concentration of CO in the
ambient air is 40ppm. Concentration of Co if 750 ppm or more

lead to acute oxygen starvation, and the stage in called,


https://dl.doubtnut.com/l/_DpE6v9TkRE5b
https://dl.doubtnut.com/l/_2513Tnl90ysS

A. anoxia

B. asphyxiation

C. carboxylation

D.Both Aand B

Answer:

° Watch Video Solution

5.1n anaerobic digestion organic matter is converted into

A. COQ and H2O

B. COQ and CH4

C. CH4 and HgO

D. HQO and 02


https://dl.doubtnut.com/l/_2513Tnl90ysS
https://dl.doubtnut.com/l/_FebdPA9SSzNp

Answer:

° Watch Video Solution

6. Which of the following is wrong about classical smog?

A. It occurs in cool, humid climate and is the result of build

up of sulphur oxides and particulate matter from fuel

combustion

B.It is formed due to the formation of sulphuric acid

droplets which combine with particulates

C.ltis also called sulphurous smog

D. It is formed in the evening hours of winter months

Answer:



https://dl.doubtnut.com/l/_FebdPA9SSzNp
https://dl.doubtnut.com/l/_0j4wfPMXgvxm

o Watch Video Solution

7. Which one of the following statement regarding

photochemical smog is not correct?

A. Photochemical smog or los angeles smog occurs in warm

dry and sunny climate results from the acting of sunlight

on nitrogen oxides & hydrocarbons produced by

automobiles and factories

B. Photochemical smog is characterised by brown hazy

fumes due to NO,

C. Photochemical smog does not causes irritation in eyes

and throat

D. Photochemical smog is an reducing agent in character.


https://dl.doubtnut.com/l/_0j4wfPMXgvxm
https://dl.doubtnut.com/l/_JleQFV7LSaNy

Answer:

o Watch Video Solution

8. The primary precursors of photochemical smog are

A. 502 and N02

B. NO, & hydrocarbons

C. NO, & PAN

D. O3 and PAN

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_JleQFV7LSaNy
https://dl.doubtnut.com/l/_4afDNp9w07oA

9. Which is true about Taj Trapezium?

(i) It is action plan to save Taj Mahal from Acid Rain

(i) All industries in the trapezium would be allowed to use
natural gas or LPG instead of coal or oil.

iii. People in these area would also be advised to use LPG
instead of coal, wood, kerosene oil etc for cooking

iv. Heavy vehicles in the near by area would be encouraged to

use low sulphur content fuel.

A. All are true

B.Onlyi.and ii. Are true

C.onlyi.is true

D. All except iv. Are true.

Answer:

| 0 Watch Video Solution


https://dl.doubtnut.com/l/_OLOVDPygZ4bG

10. Which of the following statements is false?

A. Absorption of the terrestrially radiated heat by the

carbondioxide is the main cause of global warming

B. The global warming will increasing the rate of melting of

polar ice caps increasing the sealevel

C.The global warming of earth surface is mainly due to

deforestation

D.CO,, NO,CH,, O5,CCly & H,O vapour are green

house gases.

Answer:

0 Watch Video Solution



https://dl.doubtnut.com/l/_OLOVDPygZ4bG
https://dl.doubtnut.com/l/_BaBunBqfHWmo

11. Which of the following statement/s is /are wrong:

(i) Nitric oxide and chlorofluoro carbons are two main ozone
depleting agents.

(i) In the stratosphere CFCs undergo photochemical
decomposition to produce chlorine free radical which destroy
ozone layer.

(iii) Ozone hole has mainly been observed in the stratosphere
over Antarctica.

(iv) Innon polar regions of the stratosphere, chlorine monoxide
free radicals combine with NO, and chlorine free radicals
combine with methane, as a result the chain reaction causing
ozone depletion stops

v. Northern hemisphere is free from ozone depletion

A. (i)

B. all except (v)


https://dl.doubtnut.com/l/_BaBunBqfHWmo
https://dl.doubtnut.com/l/_h1VrSydo4cnX

C.(v)

D. (iv) and (v)

Answer:

° Watch Video Solution

12. Disease caused by eating fish found in water contaminated

with industrial waste having mercury is

A. Minamata disease

B. Brights disease

C. Hashimotos disease

D. Osterosclerosis

Answer:



https://dl.doubtnut.com/l/_h1VrSydo4cnX
https://dl.doubtnut.com/l/_MFyeG7pF9zqE

| o Watch Video Solution

13. In winter season which acid is formed over polar

stratospheric cloud?

A. HOCI

B. HCIO,

C. HCIO;

D. HClO,

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_MFyeG7pF9zqE
https://dl.doubtnut.com/l/_DTpQeFtBoSqg

14. Consider the following statements about different
impurities in drinking water

l. Lead can damage kidney, liver, reproductive system

Il. Sulphide content above 500 ppm causes laxative effect.

lll. Nitrate content above 50 ppm causes disease such as

methemoglobinemia. Out of these

A. Only Ill correct
B.I & Il are correct
C. Il & lll are correct

D. All the above

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_jvYUtd459yQh
https://dl.doubtnut.com/l/_EDqPKRe8KV6Y

15. The process of 'eutrophication' is due to : increase in
concentration of insecticide in water, increase in concentration
of fluoride ion in water, The reduction in concentration of the
dissolved oxygen in water due to phosphate pollution in water,
attack of younger leaves of a plant by peroxyacetyl nitrate.

A. Increase in concentration of insecticide in water

B. Increase in concentration of fluoride ion in water

C. The reduction in concentration of the dissolved oxygen in

water due to phosphate pollution in water.

D. Attack of a younger leaves of a plant by peroxyacylnitrate

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_EDqPKRe8KV6Y

16. The order of acid in acid rain

A.H,SO, > HNO3; > HCI

B.HNOg > HCl > Hy,50,

C.HCIl > HN03 > H,S0,

D. HNOg > H,50, > HCI

Answer:

° Watch Video Solution

17. Fertile soil is likely to have a pH of

A3

B.9


https://dl.doubtnut.com/l/_eecefjfpzwuy
https://dl.doubtnut.com/l/_x80eZKcJPGE0

C.6-7

D.14

Answer:

o Watch Video Solution

18. Match the following:

A

CFC's Blue baby syndrome
Oxides of nitrogen Kidney damage
Cadmium Eutrophication
Nitrates Ozone depletion

Red haze in the traffic

Al — D II — A,

B.I — B,Il — A,

C.I - D, II — C,

D.I - A, Il — D,

IIT - B,IV — C

IIT — D, IV — C

IIT > A IV — B

111 —- C,1IV —+ B



https://dl.doubtnut.com/l/_x80eZKcJPGE0
https://dl.doubtnut.com/l/_IbBu5nW5sxlB

Answer:

° Watch Video Solution

19. Read the following passage and answer the questions given.
The production and improper disposal of waste are causes for
a great deal of environmental pollution. Many toxic industrial
wastes from manufacturing process require treatment and /or
safe disposal.

When materials are recycled, apart from saving on the coast of
raw material, waste disposal coast are reduced.

Some combustible materials like dried leaves etc can be burnt
to get heat energy. Sewage treatment includes filtering, scudge
settlement, degradation coagulation disinfection using
chlorine etc.

Certain microorganisms can degrade waste in the absence of


https://dl.doubtnut.com/l/_IbBu5nW5sxlB
https://dl.doubtnut.com/l/_eNuL5gevqOx0

oxygen-digestion.

Proper management of disposal of household and industrial
waste can be done by

l. Recycling Il. Incineration

lll. Sewage treatment IV. Digestion : | and Il only; | and IIl only;

LIl and IlI; All the above

A.land Il only
B.land Ill only
C.LIland Il

D. All the above

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_eNuL5gevqOx0

20. Read the following passage and answer the questions
given.

The production and improper disposal of waste are causes for
a great deal of environmental pollution. Many toxic industrial
wastes from manufacturing process require treatment and /or
safe disposal.

When materials are recycled, apart from saving on the coast of
raw material, waste disposal coast are reduced.

Some combustible materials like dried leaves etc can be burnt
to get heat energy. Sewage treatment includes filtering, scudge
settlement, degradation coagulation disinfection using
chlorine etc.

Certain microorganisms can degrade waste in the absence of
oxygen-digestion.

Sewage water is purified by: light, Fishes, Microorganisms,

Aquatic plants


https://dl.doubtnut.com/l/_9vil67fx1eGi

A. light

B. Fishes

C. Microorganisms

D. Aquatic plants

Answer:

° Watch Video Solution

21. Read the following passage and answer the questions given.
The production and improper disposal of waste are causes for
a great deal of environmental pollution. Many toxic industrial
wastes from manufacturing process require treatment and /or
safe disposal.

When materials are recycled, apart from saving on the coast of

raw material, waste disposal coast are reduced.


https://dl.doubtnut.com/l/_9vil67fx1eGi
https://dl.doubtnut.com/l/_K056GFoSHc6N

Some combustible materials like dried leaves etc can be burnt
to get heat energy. Sewage treatment includes filtering, scudge
settlement, degradation coagulation disinfection using
chlorine etc.

Certain microorganisms can degrade waste in the absence of
oxygen-digestion.

Which of the following statements about sewage treatment is

false?

A. In primary treatment large sized particles are filtered and

residual water is subjected to sedimentation

B. Secondary treatment involves aerobic digestion of

organic waste

C. In tertiary treatment the waste water is treated with lime

to remove phosphate


https://dl.doubtnut.com/l/_K056GFoSHc6N

D. Coagulation can be carried out by passing ozone through

waste water

Answer:

° Watch Video Solution

22. Identify the incorrect statement from the following

A. Oxides of nitrogen in the atmosphere can cause the

depletion of ozone layer

B. Ozone absorbs infrared radiation

C. Depletion of ozone layer is because of its chemical

reaction with chlorofluorocarbon

D. Ozone absorbs uv radiation of the sun


https://dl.doubtnut.com/l/_K056GFoSHc6N
https://dl.doubtnut.com/l/_o8W6NU81qmFW

Answer:

° Watch Video Solution

23. Which of the following statements is not true?

A. pH of drinking water should be between 5.5 and 9.5

B. Concentration of DO below 6 ppm is good for the growth

of fish

C. Clean water would have a BOD value of less than 5 ppm

D. Oxides of sulphur, nitrogen and carbon are the most

widespread air pollutant

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_o8W6NU81qmFW
https://dl.doubtnut.com/l/_kcAwM4oDJRf8

24. Green chemistry means such reactions which (1)Produce
colour during reactions. (2)Reduce the use and production of
hazardous chemicals. (3)Are related to the depletion of ozone
layer (4)Study the reactions in plant

A. Produce colour during reactions

B. Reduce the use and production of hazardous chemicals

C. Are related to the depletion of ozone layer

D. Study the reaction in plants

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_kcAwM4oDJRf8
https://dl.doubtnut.com/l/_rqvi3w68QtJw

25. Which of the following is not a common component of

photochemical smog?

A. Ozone

B. Acrolein

C. Peroxyacetyl nitrate

D. Chlorofluorocabon

Answer:

o Watch Video Solution

26. Which of the following statements about polar
stratospheric clouds (PSCs) is not correct? PSCs do not react

with chlorine nitrate and HCl, Type | clouds are formed at about


https://dl.doubtnut.com/l/_qbm3ZPh32p74
https://dl.doubtnut.com/l/_L9JfeKrAY2s0

77°C and contain solid HNO3.3H50, Type Il clouds are
formed at about —85°C and contain some ice, A tight
whirlpool of wind called polar vortex is formed which
surrounds Antartica
A. PSCs do not react with chlorine nitrate and HCl
B. Type | clouds are formed at about 77°C and contain
solid HNO33H20
C.Type Il clouds are formed at about —85°C and contain
some ice

D. A tight whirlpool of wind called polar vortex is formed

which surrounds Antartica

Answer:

0 Watch Video Solution



https://dl.doubtnut.com/l/_L9JfeKrAY2s0

Level li Assertion Reason

1. Assertion: Photo chemical smog is oxidising agent in nature

Reason: Photo chemical smog contains NO, and O3 which are

formed during the sequence of reaction.

A. If both Assertion and Reason are true and the Reason is

the correct explanation of Assertion.

B. If both Assertion and Reason are true but Reason is not

the correct explanation of Assertion

C. If Assertion is true but the Reason is false

D. If both Assertion and Reason are false

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_pgb4c2f2BV24

2. Assertion: The pH of acid rain is less than 5.6

Reason: Carbon dioxide present in the atmosphere dissolves in

rain water and forms carbonic acid.

A. If both Assertion and Reason are true and the Reason is

the correct explanation of Assertion.

B. If both Assertion and Reason are true but Reason is not

the correct explanation of Assertion

C. If Assertion is true but the Reason is false

D. If both Assertion and Reason are false

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_YF5riSqHY8gY

3. Assertion : The process in which nutrient rich water bodies
develop plant population is called eutrophication.

Reason:Eutrophication helps enhancement of plants & animals
population by providing them oxygen. If both Assertion and
Reason are true and the Reason is the correct explanation of
Assertion, If both Assertion and Reason are true but Reason is
not the correct explanation of Assertion, If Assertion is true but

the Reason is false, If both Assertion and Reason are false

A. If both Assertion and Reason are true and the Reason is

the correct explanation of Assertion.

B. If both Assertion and Reason are true but Reason is not

the correct explanation of Assertion

C. If Assertion is true but the Reason is false

D. If both Assertion and Reason are false


https://dl.doubtnut.com/l/_x8ag3dSiOANo

Answer:

o Watch Video Solution

Questions Level |

1. A fertile soil is likely to have a pH of:

A3

B.9

C.6 -7

D.14

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_x8ag3dSiOANo
https://dl.doubtnut.com/l/_KB6T8P1xthsW

2. Particulate matter with size less than one micron that remain

suspended in air indefinitely and transported by wind currents

are called:

A. fumes

B. mist

C. aerosols

D. soot

Answer: C

° Watch Video Solution

3. Harmful chemical present in tobacco is:

A. nicotine


https://dl.doubtnut.com/l/_gyg9YyovuI4Z
https://dl.doubtnut.com/l/_jHwDxDV4V1RK

B. atropine

C. tannic acid

D. morphine

Answer: A

° Watch Video Solution

4. Main source of lead pollution is from:

A. sewage

B. leaded gasoline

C. tobacco

D. insecticide

Answer: B


https://dl.doubtnut.com/l/_jHwDxDV4V1RK
https://dl.doubtnut.com/l/_kjLjrGZ7SYMV

o Watch Video Solution

5. Most poisonous pollutant in water is:

A. zinc

B. phosphate

C. arsenic

D. detergent

Answer: C

° Watch Video Solution

6. Which of the following is not a major constituent of air

pollutants?


https://dl.doubtnut.com/l/_kjLjrGZ7SYMV
https://dl.doubtnut.com/l/_ccmQL70WVAWI
https://dl.doubtnut.com/l/_jfLSbKCpkV9B

A. Oxides of sulphur

B. Oxides of nitrogen

C. Carbon monoxide

D. Hydrogen sulphide

Answer: D

° Watch Video Solution

7. Most efficient and suitable dust removal equipment for

removal of fly ash from flue gas in a thermal power plant is:

A. gravity settling chamber

B. cyclone separator

C. electrostatic precipitator


https://dl.doubtnut.com/l/_jfLSbKCpkV9B
https://dl.doubtnut.com/l/_mPx8QXW5F6BN

D. bag filter

Answer: C

° Watch Video Solution

8. Which of the following pollutants is not emitted during

volcanic eruptions?

A. SO,

B. Hy,S

C.Cco

D. hydrocarbons

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_mPx8QXW5F6BN
https://dl.doubtnut.com/l/_PZDWHDHvnRXF

9. White lung cancer' is caused by:

A. asbestos

B. silica

C. textiles

D. paper

Answer: C

0 Watch Video Solution

10. Which of the following produces another air pollutant by

reacting with oxides of nitrogen in presence of sunlight?

A. HCl


https://dl.doubtnut.com/l/_PZDWHDHvnRXF
https://dl.doubtnut.com/l/_eDrxJLve9M8E
https://dl.doubtnut.com/l/_eh9VKSQjjiwx

B. SO,

C.O3

D. HCN gas

Answer: C

° Watch Video Solution

1. Pneumoconiosis is caused by inhalation of

A.CO

B. Particulate matter

C. S50,

D. CFCs

Answer: B


https://dl.doubtnut.com/l/_eh9VKSQjjiwx
https://dl.doubtnut.com/l/_Vn9SEYurtMYl

o Watch Video Solution

12. The pollutants released by jet aeoplanes in the atmosphere

are called

A. Photochemical oxidants

B. Photochemical reductants

C. Aerosols

D. Physical pollutants

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_Vn9SEYurtMYl
https://dl.doubtnut.com/l/_uDIDEe0sakKp

13. Which of the following is responsible for depletion of the

ozone layer in the upper strata of the atmosphere?

A. Freons

B. Polyhalogens

C. Ferrocene

D. Fullerenes

Answer: A

° Watch Video Solution

14. Fluorosis' disease is caused due to the reaction of ....... with

excess of fluoride in the body.

A. Ca


https://dl.doubtnut.com/l/_6WhKZu9hpWAo
https://dl.doubtnut.com/l/_3tlkMMtyEOLa

B. Mg

C.Fe

D.K

Answer: A

o Watch Video Solution

15. Acid mine water principally contains sulphuric acid

produced by oxidation of

A. Hydrogen sulphide

B. Iron pyrites

C. Sulphur rich coal

D. Metal sulphates


https://dl.doubtnut.com/l/_3tlkMMtyEOLa
https://dl.doubtnut.com/l/_W9WY3Vndd9eK

Answer: B

o Watch Video Solution

16. Oxidizing agent usually used in determination of COD is

A. H202

B. K20T207

C. KMnO4

D. O,

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_W9WY3Vndd9eK
https://dl.doubtnut.com/l/_16ysjgECt9Ri

17. The major products of the digestion of sewage sludge are

A.CO, + Hy,O

B.CO + HyO

C.CO, + CHy

D.CH,; + H,0O

Answer: C

° Watch Video Solution

18. Which one of the following is not a common component of

photochemical smog?

A. Ozone

B. Acrolein


https://dl.doubtnut.com/l/_WjAwonL8H1XQ
https://dl.doubtnut.com/l/_AvKa2c6jwbH7

C. Peroxyacetyl nitrate

D. Chloroflurocarbons

Answer: D

° Watch Video Solution

19. All are primary pollutants except

A. SO,

B. H,SO,

C.NO,

D. Particulate matter

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_AvKa2c6jwbH7
https://dl.doubtnut.com/l/_n9MrcoGaqTtD

20. The size of particulates of H, S0, fog lies in the range

A. 5-100 nm

B. 100-500 nm

C. 500-1000 nm

D. 1000-10,000 nm

Answer: C

° Watch Video Solution

21. Depletion of ozone layer causes

A. blood cancer


https://dl.doubtnut.com/l/_n9MrcoGaqTtD
https://dl.doubtnut.com/l/_5NA1yE1CN5cd
https://dl.doubtnut.com/l/_1stsoIkhf9KP

B. lung cancer

C. skin cancer

D. breast cancer

Answer: C

o Watch Video Solution

22.London smog is found in

A. Summer during day time

B. Summer during morning time

C. Winter during morning time

D. Winter during day time

Answer: C


https://dl.doubtnut.com/l/_1stsoIkhf9KP
https://dl.doubtnut.com/l/_OCZMkK3V8hcr

° Watch Video Solution

23.The smog is essentially caused by the presence of

A. 02 and 03

B.O5 and N,

C. Oxides of sulphur and nitrogen

D. O3 and N,

Answer: C

° Watch Video Solution

24. Among the following the one which is not a greenhouse gas

is


https://dl.doubtnut.com/l/_OCZMkK3V8hcr
https://dl.doubtnut.com/l/_a1Rg3khkD6QQ
https://dl.doubtnut.com/l/_3wGXOPe9YQNG

A. N,O

B.CO,

C.CH,

D. O,

Answer: D

° Watch Video Solution

25. The gas emitted by supersonic jet planes that slowly

depletes the ozone layer is

A.CO

B.NO

C. S0,


https://dl.doubtnut.com/l/_3wGXOPe9YQNG
https://dl.doubtnut.com/l/_aeLnpsXMFuKM

D. O,

Answer: B

° Watch Video Solution

26. Excess-nitrate in drinking water can cause

A. methemoglobinemia

B. kidney damage

C. liver damage

D. laxative effect

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_aeLnpsXMFuKM
https://dl.doubtnut.com/l/_hY49TCYKKkbW
https://dl.doubtnut.com/l/_ml8IEhO16aZA

27. The concentration of fluoride, lead, nitrate and iron in a
water sample from an underground lake was found to be 1000
ppb, 40 ppb, 100 ppm and 0.2 ppm respectively. This water is
unsuitable for drinking due to high concentration of

A. fluoride

B. lead

C. nitrate

D. iron

Answer: C

o Watch Video Solution

28. Green chemistry deals with


https://dl.doubtnut.com/l/_ml8IEhO16aZA
https://dl.doubtnut.com/l/_QHb9iv3gLPP4

A. study of plant physiology

B. study of extraction of natural products from plants

C.detailed study of reactions involved in the synthesis of

chlorophyll

D. utilization of existing knowledge base for reduction the

chemical hazards along with developmental activities

Answer: D

° Watch Video Solution

29. Biochemical Oxygen Demand, (BOD) is a measure of organic
material present in water. BOD value less than 5 ppm indicates

a water sample to be .......


https://dl.doubtnut.com/l/_QHb9iv3gLPP4
https://dl.doubtnut.com/l/_hEBfcEHaEjN9

A.rich in dissolved oxygen

B. poor in dissolved oxygen

C. highly polluted

D. not suitable for aquatic life

Answer: A

° Watch Video Solution

30. The pollutants which come directly in the air from sources
are called primary pollutants. Primary pollutants are sometimes
converted into secondary pollutants. Which of the following

belongs to secondary air pollutants?

A.CO

B. Hydrocarbon


https://dl.doubtnut.com/l/_hEBfcEHaEjN9
https://dl.doubtnut.com/l/_wspL8CbUdQfa

C. Peroxyacetyl nitrate

D.NO

Answer: C

° Watch Video Solution

31. Which of the following is the uppermost region of the

atmosphere?

A. Stratosphere

B. Troposphere

C. Exosphere

D. lonosphere

Answer: C



https://dl.doubtnut.com/l/_wspL8CbUdQfa
https://dl.doubtnut.com/l/_9kdyqQgfHa5E

| o Watch Video Solution

32. Which of the following is present in maximum amount in

acid rain?

A. HNO,

B. H,50,

C. HCI

D. H,COs

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_9kdyqQgfHa5E
https://dl.doubtnut.com/l/_wW78M1lvBVcJ

33. High concentration of fluoride is poisonous and harmful to

bones and teeth at levels over

A 1ppm

B.3 ppm

C.5ppm

D. 10 ppm

Answer: D

° Watch Video Solution

34. The point of temperature inversion between troposphere

and ozonosphere is called

A. stratopause


https://dl.doubtnut.com/l/_Lj1o1qOPKR6i
https://dl.doubtnut.com/l/_Dg8K7TR8kDU8

B. mesopause

C. tropopause

D. ionopause

Answer: C

° Watch Video Solution

35. Co-existence of biotic and abiotic components of the

environment along with climatic factors such as temperature,

humidity, etc. is called

A. eutrophication

B. ecosystem

C. atmosphere


https://dl.doubtnut.com/l/_Dg8K7TR8kDU8
https://dl.doubtnut.com/l/_KQI4lx8xwS4n

D. halomorphism

Answer: B

° Watch Video Solution

36. The non-viable particulate is

A. bacteria

B. moulds

C. fungi

D. dust

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_KQI4lx8xwS4n
https://dl.doubtnut.com/l/_8FbG5Pkhe1E0
https://dl.doubtnut.com/l/_uW82mGaqK65T

37. A 'body' which allows the short wavelength incoming solar

radiations to enter in but does not allow long wavelength

outgoing IR-radiation to escape out is called

A. global warming

B. greenhouse

C.ionosphere

D. stratosphere

Answer: B

° Watch Video Solution

38. Addition of phosphate fertilizers into water leads to
a)increased growth of decomposers b)Reduced algal growth

c)Increased algal growth d)Nutrient enrichment


https://dl.doubtnut.com/l/_uW82mGaqK65T
https://dl.doubtnut.com/l/_HZ0zgjjeacLT

A.increased growth of decomposers

B. reduced algal growth

C.increased algal growth

D. nutrient enrichment (eutrophication)

Answer: D

° Watch Video Solution

39. Persistent pesticides such a DDT pass into food chain and

increase in amount per unit weight of organisms due to their

accumulation in fat. This phenomenon is called

A. biodegradation

B. biomagnification


https://dl.doubtnut.com/l/_HZ0zgjjeacLT
https://dl.doubtnut.com/l/_jP5VZ53M78CD

C. biosynthesis

D. decomposition

Answer: B

° Watch Video Solution

40. Higher concentration of nitrogen dioxide in atmospheric air

causes

A. cancer

B. bronchitis

C. asphyxiation

D. corrosion

Answer: B



https://dl.doubtnut.com/l/_jP5VZ53M78CD
https://dl.doubtnut.com/l/_p74V0ayDExUU

| ° Watch Video Solution

41. Growth of fish is not as healthy in warm water as in cold

water because

A.the amount of D.O.in warm water is higher than in cold

water

B. warm water is not liked by fish

C. cold water contains more marine plants

D.the amount of D.O. in warm water is less than in cold

water.

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_p74V0ayDExUU
https://dl.doubtnut.com/l/_F6cR9siQoA3W
https://dl.doubtnut.com/l/_F9ArTHTSjYsD

42. Modes of controlling pollution in large cities include

A. less use of insecticides

B. proper disposal of organic wastes, sewage and industrial

effluents

C. shifting of factories out of the residential area

D. all the above

Answer: D

o Watch Video Solution

43. Which of the following statements is false?


https://dl.doubtnut.com/l/_F9ArTHTSjYsD
https://dl.doubtnut.com/l/_W9S9zeAoZlha

A.The main reason for river water pollution is industrial

and domestic sewage discharge

B. Surface water contains a lot of organic matter, mineral

nutrients and radioactive materials

C. Oil spill in sea water causes heavy damage to fishery

D. Oil slick in water increases D.O.value

Answer: D

° Watch Video Solution

44. The process of 'eutrophication' is due to : increase in
concentration of insecticide in water, increase in concentration

of fluoride ion in water, The reduction in concentration of the


https://dl.doubtnut.com/l/_W9S9zeAoZlha
https://dl.doubtnut.com/l/_Mnnorq3ZKVHF

dissolved oxygen in water due to phosphate pollution in water,
attack of younger leaves of a plant by peroxyacetyl nitrate.
A. increase in concentration of insecticide in water
B. increase in concentration of fluoride ion in water
C. the reduction in concentration of the dissolved oxygen in
water due to phosphate pollution in water
D. attack of younger leaves of a plant by peroxyacetyl

nitrate

Answer: C

° Watch Video Solution

45, Lead in water can cause


https://dl.doubtnut.com/l/_Mnnorq3ZKVHF
https://dl.doubtnut.com/l/_2BorUAc0PB2q

A. eye disease

B. arthritis

C. kidney damage

D. hair falling

Answer: C

° Watch Video Solution

46. In the upper layer of the atmosphere, ozone is formed by

the:

A. action of UV rays on oxygen

B. combination of oxygen molecules

C. action of electric discharge of oxygen molecules


https://dl.doubtnut.com/l/_2BorUAc0PB2q
https://dl.doubtnut.com/l/_TbWbBwSFdAF4

D. effect of high pressures on oxygen

Answer: A

° Watch Video Solution

47. Growing more trees help to:

A. reduce oxygen in the environment

B. increase carbon dioxide in the environment

C.reduce carbon dioxide only in the environment

D. reduce CO, and increase O, in the environment

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_TbWbBwSFdAF4
https://dl.doubtnut.com/l/_7cy07cKqc2Xk
https://dl.doubtnut.com/l/_xwAG6MbfTg5e

48. It is dangerous to leave the car engine running in a closed

garage, because it may cause serious pollution due to

poisoning by emission of

A.CO,

B.CO

C. unburnt petrol

D. SO,

Answer: B

° Watch Video Solution

49, Two important sinks of CO, are

A. plants, vehicular exhaust


https://dl.doubtnut.com/l/_xwAG6MbfTg5e
https://dl.doubtnut.com/l/_94SuEu0UcY4Z

B. oceans, plants

C. oceans, soil

D. plants, limestone

Answer: B

o Watch Video Solution

50.Black lung disease is caused by inhalation of

A. coal dust

B. silica dust

C. cotton fiber dust

D. asbestos dust

Answer: A


https://dl.doubtnut.com/l/_94SuEu0UcY4Z
https://dl.doubtnut.com/l/_W75TkNynazso

o Watch Video Solution

Questions Level li

1. Presence of high concentration of ozone and smog in

atmospheric air causes:

A. embrittlement and decreases of folding resistance of

paper

B. cracking of rubber products

C. fading of dye on textiles

D. damage of electrical insulator on high tension power line

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_W75TkNynazso
https://dl.doubtnut.com/l/_lXraV5i2MNok

2. Which statement among the following is not correct?

A. Primary pollutants are those which are emitted directly

from the source

B. Secondary pollutants are those which are formed in the

atomosphere by chemical interactions among primary

pollutants and atmospheric constituents.

C. Acid rain is a primary pollutant.

D. Particulates refer to all atomospheric substances that are

not gases.

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_lXraV5i2MNok
https://dl.doubtnut.com/l/_5GNpaIXo1PtF

3. Photochemical oxidant PAN is formed.

A.By action of oxides of nitrogen on hydrocarbons in

presence of sunlight

B. By action of carbon dioxide on hydrocarbons in presence

of sunlight

C.By action of hydrogen sulphide on hydrocarbons in

presence of sunlight

D. By the action of SO, and hydrocarbons

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_gOTlruW6jSiq

4. The practice of application of sewage sludge to the land is

increasing because

A. Ocean dumping has become costlier and polluting

B. Dried sludge is compact and easy to handle

C.Sludge contains nitrogen and phosphorus which make it

useful as fertilizer

D. None of these

Answer: C

o Watch Video Solution

5. Which of the following is incorrect regarding green

chemistry?


https://dl.doubtnut.com/l/_s57FDb2ETJ6L
https://dl.doubtnut.com/l/_DpNitMxiGMWa

A. It involves forestation of wastelands.

B. It involves utilization of information regarding toxicity

and hazardous nature of chemicals.

C.It involves development of new synthetic methods and

analytical tools.

D. It follows the same tradition of scientific discovery and

understanding that has characterized chemistry from its

origins.

Answer: A

0 Watch Video Solution

6. Green chemistry has helped in development of process for

manufacture of polystyrene foam sheet packaging material by


https://dl.doubtnut.com/l/_DpNitMxiGMWa
https://dl.doubtnut.com/l/_pbf36Y0TRP0Q

using.... as the blowing agent.

A. Steam

B.CO,

C.CFGCs

D. Methane

Answer: B

° Watch Video Solution

7. Which one of the following statements is false?

A. Photochemical smog causes irritation in eyes

B. London smog is a mixture of smoke and fog

C. Photochemical smog results in the formation of PAN


https://dl.doubtnut.com/l/_pbf36Y0TRP0Q
https://dl.doubtnut.com/l/_2JLsFd6Nmo43

D. London smog is oxidising in nature

Answer: D

° Watch Video Solution

8. Freon is not recommended to be used in refrigerators

because they:

A. increase temperature

B. deplete ozone

C. affect environment

D. affect human body

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_2JLsFd6Nmo43
https://dl.doubtnut.com/l/_Ih08Y1HNyS4h

9. Identify the wrong statement in the following:

A. Ozone layer does not permit infrared radiation from the
sun to reach the earth

B. Acid rain is mostly because of oxides of nitrogen and
sulphur

C. Chlorofluorocarbons are responsible for ozone layer
depletion.

D. Greenhouse effect is responsible for global warning

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_Ih08Y1HNyS4h
https://dl.doubtnut.com/l/_MVJsyxap4o7s

10. Which of the following statements is not true about

classical smog?

A.lts main components are produced by the action of

sunlight on emissions of automobiles and factories

B. Produced in cold and humid climate

C. It contains compounds of reducing nature

D. It contains smoke, fog and sulphur dioxide

Answer: A

° Watch Video Solution

11. Which of the following statements is wrong?

A. Ozone is not responsible for greenhouse effect


https://dl.doubtnut.com/l/_60InfZAXsY4C
https://dl.doubtnut.com/l/_WPemX9uSOHjz

B.Ozone can oxidise nitrogen monoxide present in the

atmosphere to nitrogen dioxide

C.Ozone hole is thinning of ozone layer present in

stratosphere

D. Ozone is produced in upper stratosphere by the action of

UV rays on oxygen

Answer: A

° Watch Video Solution

12. Which of the following practices will not come under green

chemistry?


https://dl.doubtnut.com/l/_WPemX9uSOHjz
https://dl.doubtnut.com/l/_Dm0UeVm7HjqF

A.If possible, making use of soap made of vegetable oils

instead of using synthetic detergents

B.Using H>0O, for bleaching purpose instead of using

chlorine based bleaching agents

C.Using bicycle for travelling small distances instead of

using petrol/diesel based vehicles

D. Using plastic cans for neatly strong substances

Answer: D

° Watch Video Solution

13. Which of the following statements about sewage treatment

is false?


https://dl.doubtnut.com/l/_Dm0UeVm7HjqF
https://dl.doubtnut.com/l/_XKJSabz1vVS6

A.In primary treatment, large sized particles are filtered

through screens and residual water is subjected to

sedimentation

B. Secondary treatment involves aerobic digestion of the

organic waste

C. In tertiary treatment, the waste water is treated with lime

to remove phosphate followed by coagulation

D. Coagulation can be carried out by passing ozone through

waste water

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_XKJSabz1vVS6

14. When rain is accompanied by a thunderstorm, the collected

rain water will have a pH value.

A.slightly higher than that when the thunderstorm is not

there

B. uninfluenced by occurrence of thunderstorm

C. which depends upon the amount of dust in air

D.slightly lower than that of rain water without

thunderstorm

Answer: D

° Watch Video Solution

15. Which of the following statements is false?


https://dl.doubtnut.com/l/_i87Uf7wFTiNb
https://dl.doubtnut.com/l/_HaguvxkhjFbe

A. Limestone acts as a sink for SO,

B. SO, can be removed from flue gases by passing through

a solution of citrate ions

C. Ammonia acts as a sink for NO,,

D. The average residence time of NO, is one month

Answer: D

° Watch Video Solution

16. Peeling of ozone umbrella, which protects us from UV rays is

caused by

A. PAN

B.CO,


https://dl.doubtnut.com/l/_HaguvxkhjFbe
https://dl.doubtnut.com/l/_n8Yin68A2qRB

C.CFCs

D. Coal burning

Answer: C

° Watch Video Solution

17. Loam soil contains almost equal amounts of

A. sand

B. silt

C.clay

D. all the above

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_n8Yin68A2qRB
https://dl.doubtnut.com/l/_T3OhYaiaPe7D

18. Incomplete combustion of petrol or diesel in automobile

engines can be best detected by testing the fuel gases for the

presence of

A. carbon monoxide and water vapour

B. carbon monoxide

C. nitrogen dioxide

D. sulphur dioxide

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_T3OhYaiaPe7D
https://dl.doubtnut.com/l/_9Gox1lKE9E4a

19. Which of the following causes damage to the building

containing calcium carbonate and responsible for cough and

choking in human?

A. Sulphur

B. Carbon

C. Nitrogen dioxide

D. Sulphur dioxide

Answer: D

° Watch Video Solution

20. Persons working in cement plants and limestone quarries

are more prone to disease like


https://dl.doubtnut.com/l/_0I3NAB8bMTGs
https://dl.doubtnut.com/l/_tzIajLs0P2VN

A. cancer

B. asthma

C. silicosis

D. pneumoconiosis

Answer: C

° Watch Video Solution

21. Main pollutants released from iron and steel industry is

A. CO, 002 and SOQ
B.NOQ, SO2 and HQS
C. COQ, H2S and N02

D. COQ, N02 and S02


https://dl.doubtnut.com/l/_tzIajLs0P2VN
https://dl.doubtnut.com/l/_gljmfczOYhWY

Answer: A

o Watch Video Solution

22. Which is incorrectly matched?

2

o View Text Solution

23. Man dies in the atmosphere of CO because it

A. dries up the blood

B. combines with O, present in the body

C. reduces the organic matter of tissues


https://dl.doubtnut.com/l/_gljmfczOYhWY
https://dl.doubtnut.com/l/_Y4jHXH2Qa2Bp
https://dl.doubtnut.com/l/_SyEv0M4vs6Gn

D.combines with the haemoglobin of blood, thereby

making the latter incapable of absorbing O,

Answer: D

° Watch Video Solution

24. Which pollutant causes burning sensation of throat and

eyes and vomiting sensation?

A. Hydrogen sulphide

B. Sulphur

C. Hydrogen cyanide

D. Arsenic substances

Answer: A



https://dl.doubtnut.com/l/_SyEv0M4vs6Gn
https://dl.doubtnut.com/l/_apJy6jxENWOE

| ° Watch Video Solution

25. In which one of the following the biochemical oxygen
demand (BOD) of sewage (S), distillery efluent (DE), paper mill
effluent(PE) and sugar mill efluent (SE) have been arranged in
ascending order.

A.SE < S < PE < DE

B.SE < PE < S < DE

CPE < S < SE < DE

D.S < DE < PE < SE

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_apJy6jxENWOE
https://dl.doubtnut.com/l/_jjxuo2zWQGrJ
https://dl.doubtnut.com/l/_D4cL0fYDcE0a

26. Which one is not a correct statement? To minimise

pollution:

A. manures and biofertilizers should be used in place of

chemical fertilizers

B. all nuclear tests must be stopped

C. green belts in cities should be developed

D. domestic garbage must be burnt

Answer: D

0 Watch Video Solution

27.1f BOD of ariver is high, it means that the river is

A. not polluted


https://dl.doubtnut.com/l/_D4cL0fYDcE0a
https://dl.doubtnut.com/l/_NK6QvJFwLOPP

B. very much polluted with inorganic chemicals

C.very much polluted with organic chemicals which are

decomposed by micro-organisms

D. polluted with pesticides

Answer: C

° Watch Video Solution

28. Photo-chemical oxidants such as PAN or PBN are formed:

A. by action of nitrogen oxides on hydrocarbons in presence

of sunlight

B. by action of carbon dioxide on hydrocarbons in presence

of sunlight


https://dl.doubtnut.com/l/_NK6QvJFwLOPP
https://dl.doubtnut.com/l/_Ljn1hh4vPERQ

C.by action of hydrogen sulphide on hydrocarbons in

presence of sunlight

D. none of the above

Answer: A

° Watch Video Solution

29. Lung diseases are four times more in urban areas than rural

areas. This is due to the presence of

A. SO,

B.CO,

C. N,

D. Water-vapour


https://dl.doubtnut.com/l/_Ljn1hh4vPERQ
https://dl.doubtnut.com/l/_fSsRaYbNMvlU

Answer: A

° Watch Video Solution

30. Which one of is not correct? Green house effect

A.is due to high concentration of CO, in atmosphere

B.is influenced by gases such as CHy O3 and
chlorofluorocarbons

C. would result in the warming up of the earth

D. would result in lowering the level of oceans due to high

evaporation

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_fSsRaYbNMvlU
https://dl.doubtnut.com/l/_wtl1nCkmeOSH

31. SO, and NO, causes pollution by increasing

A. acidity

B. alkanity

C. buffer action

D. none of these

Answer: A

° Watch Video Solution

32. Pollutant is a chemical substance or factor which disturbs:

A. our balanced environment

B. geochemical cycles


https://dl.doubtnut.com/l/_wtl1nCkmeOSH
https://dl.doubtnut.com/l/_PcKizaeISFW4
https://dl.doubtnut.com/l/_hSZ8PS4u6itt

C. flora of any region

D. fauna of any region

Answer: A

° Watch Video Solution

33. Particulates are added to the atmosphere by:

A. industrial processes

B. combustion of fuels

C. agriculture burning

D. All of these

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_hSZ8PS4u6itt
https://dl.doubtnut.com/l/_RlM8X61IXQco

34. The following process does not occur in the trophosphere:

photosynthesis, combustion, greenhouse effect, ozone

depletion

A. photosynthesis

B. combustion

C. greenhouse effect

D. ozone depletion

Answer: D

° Watch Video Solution

35.DDT and BHC are...............


https://dl.doubtnut.com/l/_RlM8X61IXQco
https://dl.doubtnut.com/l/_5AjciRHRwGsl
https://dl.doubtnut.com/l/_1uJpLKHRhmPJ

A. allergens

B. carcinogens

C. asthmatic agents

D. none of these

Answer: B

o Watch Video Solution

36. Carbonaceous particles having size less than 10~ % m are
called: grit, aggregates, aerosols, smoke

A. grill

B. aggregates

C. aerosols


https://dl.doubtnut.com/l/_1uJpLKHRhmPJ
https://dl.doubtnut.com/l/_hf5fa2tA3Loq

D. smoke

Answer: D

o Watch Video Solution

37. Which of the following statements about the depletion of
ozone layer is correct?

A.The problem of ozone depletion is less serious at poles
because NQO, solidifies and is not available for
consuming CIlO™ radicals.

B. The problem of ozone depletion is more serious at poles

because ice crystals in the clouds over poles act as


https://dl.doubtnut.com/l/_hf5fa2tA3Loq
https://dl.doubtnut.com/l/_rTZI6tUCdYZp

catalyst for photochemical reactions involving the

decomposition of ozone by Cl* and ClO™ radicals.

C. Freons, chlorofluorocarbons, are inert chemically, they do

not react with ozone in stratosphere.

D. Oxides of nitrogen also do not react with ozone in

stratosphere.

Answer: B

° Watch Video Solution

38. Which of the following reactions does not contribute to air

pollution in the troposphere?

A.CyHyy(4) +602(4) = CO(y) +2C0;4) + 5H30 )


https://dl.doubtnut.com/l/_rTZI6tUCdYZp
https://dl.doubtnut.com/l/_hT9aQfTTou7S

Lighting
B.Ng(g) + 02(9) —— 2NO

2NO (4) + O3(g) — 2NOy(y)
C.2HCHO — CHy(,) + COy(,)

D.Cl + 03(9) — ClO + 02(9)

Answer: D

° Watch Video Solution

39. Select the incorrect statement. : Water is considered pure if
it has BOD less than 5 ppm, In COD determination, the
pollutants resistant to microbial oxidation are not oxidized by
oxidizing agent like KoCry07 , The lower the concentration of
DO, the more polluted is the water sample, The tolerable limit

of lead in drinking water is 50 ppb.


https://dl.doubtnut.com/l/_hT9aQfTTou7S
https://dl.doubtnut.com/l/_jFZ2dnXCaSPq

A. Water is considered pure if it has BOD less than 5 ppm.

B.In COD determination, the pollutants resistant to

microbial oxidation are not oxidized by oxidizing agent

like KQCT’207

C.The lower the concentration of DO, the more polluted is

the water sample

D. The tolerable limit of lead in drinking water is 50 ppb.

Answer: B

° Watch Video Solution

40. Pick up the correct statement.


https://dl.doubtnut.com/l/_jFZ2dnXCaSPq
https://dl.doubtnut.com/l/_aaRtVsdtqHgY

A.CO which is major pollutant resulting from the

combustion of fuels in automobiles plays a major role in

photochemical smog

B. Classical smog has an oxidizing character while the

photochemical smog is reducing in character

C. Photochemical smog occurs in day time whereas the

classical smog occurs in early morning hours

D. During formation of smog the level of ozone in the

atmosphere goes down

Answer: C

0 Watch Video Solution



https://dl.doubtnut.com/l/_aaRtVsdtqHgY

41. How are flue gases from industries freed from oxides of
nitrogen and sulphur?
A. passing them through water and O, respectively
B. electroreduction and electrooxidation respectively
C. scrubbing them with H, SO, and citrate ions (I—Izcit_l)
respectively.
D. scrubbing them with citrate ions (Hzcit_l) and Hy,50,

respectively

Answer: C

° Watch Video Solution

42. Which statement among the following is correct


https://dl.doubtnut.com/l/_m4qegXdRxM2O
https://dl.doubtnut.com/l/_wDXg7g2YUZLU

A.NO is more harmful than NO,

B. SO, is more harmful than SO;

C. Acid rain contains mainly HNOj3

D.Acid rain contains mainly HyS50, and lesser

concentrations of HNO;3 and HCI

Answer: D

° Watch Video Solution

43. Which of the following is/are correct statements for Bhopal

gas tragedy?

A. It took place on 2nd December, 1984

B. It was due to leakage of methyl isocyanate (MIC)


https://dl.doubtnut.com/l/_wDXg7g2YUZLU
https://dl.doubtnut.com/l/_jaGygUOL0Udn

C. MIC is obtained by the reaction of methylamine with

phosgene

D. All of these

Answer: D

° Watch Video Solution

44. Which of the following does not contribute towards the

formation of photochemical smog?

A.NO

B. SO,

C.0;

D. hydrocarbons


https://dl.doubtnut.com/l/_jaGygUOL0Udn
https://dl.doubtnut.com/l/_LApj9xClcznJ

Answer: B

o Watch Video Solution

45.The aromatic compounds present as particulates are

A. benzene

B. toluene

C. nitrobenzene

D. polycyclic aromatic hydrocarbons

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_LApj9xClcznJ
https://dl.doubtnut.com/l/_dTcB5q3ZY72h

46. Photochemical smog formed in congested metropolitan

cities mainly consists of:

A. hydrocarbons SO, and CO,

B. hydrocarbons, ozone and SO,

C. ozone, peroxyacetyl nitrate and NO,,

D. smoke, peroxyacetyl nitrate and SO,

Answer: C

° Watch Video Solution

47. Photochemical transformation of the automobile exhaust

emission in UV wavelength of sunlight results into:

A. CH4 and CGHG


https://dl.doubtnut.com/l/_Zh1r4BXZLUkd
https://dl.doubtnut.com/l/_565qKMICPeV8

B. O3 and PAN

C. CO2 and N02

D.CO and CO,

Answer: B

° Watch Video Solution

48. Photochemical smog is common pollutant in places having:

A. high temperature

B. low temperature

C. excessive ammonia in the air

D. excessive sulphur dioxide in the air

Answer: A


https://dl.doubtnut.com/l/_565qKMICPeV8
https://dl.doubtnut.com/l/_45odyy2ZvmF9

o Watch Video Solution

Questions Level li Assertion Reason Type

1. Assertion : Earth's outer mineral cover refers to lithosphere.

Reason : Troposphere extends to about 10 km above earth's

surface.

A. If both Assertion and Reason are correct and Reason is

the correct explanation of Assertion.

B. If both Assertion and Reason are correct, but Reason is

not the correct explanation of Assertion.

C. If Assertion is correct , but Reason is incorrect.

D. If both Assertion and Reason are incorrect .


https://dl.doubtnut.com/l/_45odyy2ZvmF9
https://dl.doubtnut.com/l/_O1fRvpnasOsu

Answer: B

° Watch Video Solution

2. Assertion : One of the sources of CO is automobile exhaust.

Reason : CO is produced as a result of incomplete combustion
of fuels in automobile engines. : If both Assertion and Reason
are correct and Reason is the correct explanation of Assertion.,
If both Assertion and Reason are correct, but Reason is not the
correct explanation of Assertion., If Assertion is correct , but

Reason is incorrect., If both Assertion and Reason are incorrect

A. If both Assertion and Reason are correct and Reason is

the correct explanation of Assertion.


https://dl.doubtnut.com/l/_O1fRvpnasOsu
https://dl.doubtnut.com/l/_TJS34djuJsKw

B. If both Assertion and Reason are correct, but Reason is

not the correct explanation of Assertion.

C. If Assertion is correct , but Reason is incorrect.

D. If both Assertion and Reason are incorrect .

Answer: A

° Watch Video Solution

3. Assertion : The major source of air borne lead is leaded
gasoline.

Reason : Leaded gasoline in petrol contains lead nitrate and
lead acetate salts. : If both Assertion and Reason are correct
and Reason is the correct explanation of Assertion., If both

Assertion and Reason are correct, but Reason is not the correct


https://dl.doubtnut.com/l/_TJS34djuJsKw
https://dl.doubtnut.com/l/_pa68LtaBkHVn

explanation of Assertion., If Assertion is correct , but Reason is

incorrect., If both Assertion and Reason are incorrect .

A. If both Assertion and Reason are correct and Reason is

the correct explanation of Assertion.

B. If both Assertion and Reason are correct, but Reason is

not the correct explanation of Assertion.

C. If Assertion is correct , but Reason is incorrect.

D. If both Assertion and Reason are incorrect .

Answer: C

° Watch Video Solution

4. Assertion: Photochemical smog is produced by nitrogen

oxides. Reason:Vehicular pollution is a major source of


https://dl.doubtnut.com/l/_pa68LtaBkHVn
https://dl.doubtnut.com/l/_f8d63NZsMLYw

nitrogen oxides. (1)Both Assertion and Reason are true and
Reason is the correct explanation of Assertion. (2)Both
Assertion and Reason are true but Reason is not the correct
explanation of Assertion. (3)Assertion is true but Reason is
false. (4)Both Assertion and Reason are false.
A. If both Assertion and Reason are correct and Reason is
the correct explanation of Assertion.
B. If both Assertion and Reason are correct, but Reason is
not the correct explanation of Assertion.

C. If Assertion is correct , but Reason is incorrect.

D. If both Assertion and Reason are incorrect .

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_f8d63NZsMLYw
https://dl.doubtnut.com/l/_sjAuqGvOgJEh

5. Assertion : Water is polluted by dissolved oxygen.

Reason : Dissolved oxygen is responsible for accumulation of

organic waste.

A. If both Assertion and Reason are correct and Reason is

the correct explanation of Assertion.

B. If both Assertion and Reason are correct, but Reason is

not the correct explanation of Assertion.

C. If Assertion is correct , but Reason is incorrect.

D. If both Assertion and Reason are incorrect .

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_sjAuqGvOgJEh

6. Assertion : Chlorofluorocarbons depletes ozone layer.

Reason : Chlorofluorocarbons produce chlorine free radical in

presence of sunlight responsible for the decomposition of O;

to 02

A. If both Assertion and Reason are correct and Reason is

the correct explanation of Assertion.

B. If both Assertion and Reason are correct, but Reason is

not the correct explanation of Assertion.

C. If Assertion is correct , but Reason is incorrect.

D. If both Assertion and Reason are incorrect .

Answer: A

0 Watch Video Solution



https://dl.doubtnut.com/l/_S1nyxWG9DD4n
https://dl.doubtnut.com/l/_wf607jVqG2n6

7. Assertion : Nitrogen and sulphur oxides are responsible for

acid rains.

Reason : These oxides are produced due to combustion of

fuels.

A. If both Assertion and Reason are correct and Reason is

the correct explanation of Assertion.

B. If both Assertion and Reason are correct, but Reason is

not the correct explanation of Assertion.

C. If Assertion is correct , but Reason is incorrect.

D. If both Assertion and Reason are incorrect .

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_wf607jVqG2n6
https://dl.doubtnut.com/l/_eN1IMAZktmzm

8. Assertion: CO and NO both combine with haemoglobin.

Reason : Both have equal affinity for haemoglobin

A. If both Assertion and Reason are correct and Reason is

the correct explanation of Assertion.

B. If both Assertion and Reason are correct, but Reason is

not the correct explanation of Assertion.

C. If Assertion is correct , but Reason is incorrect.

D. If both Assertion and Reason are incorrect .

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_eN1IMAZktmzm

9. Assertion: The lower the concentration of D.O., the more

polluted is the water sample.

Reason : Oxygen is consumed by microbes for the

decomposition of organic matter present in water.

A. If both Assertion and Reason are correct and Reason is

the correct explanation of Assertion.

B. If both Assertion and Reason are correct, but Reason is

not the correct explanation of Assertion.

C. If Assertion is correct , but Reason is incorrect.

D. If both Assertion and Reason are incorrect .

Answer: A

0 Watch Video Solution



https://dl.doubtnut.com/l/_PKq4DOhin22T
https://dl.doubtnut.com/l/_eYEBkc93F50s

10. Assertion, Water having pH < 5.5 is not suitable for

drinking purposes.

Reason : As the pH of water decreases, the solubility of metal

ions increases.

A. If both Assertion and Reason are correct and Reason is

the correct explanation of Assertion.

B. If both Assertion and Reason are correct, but Reason is

not the correct explanation of Assertion.

C. If Assertion is correct , but Reason is incorrect.

D. If both Assertion and Reason are incorrect .

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_eYEBkc93F50s

